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Note : Answer questions from both the Sections as 

per instructions.  

Section—A 

Note : Answer any two questions from this Section 

in about 500 words each. 2×20=40 

1. Compare between Classical Theory and 

Keynesian Theory of Macro Economics.  

Use appropriate diagrams to justify your 

answer. 
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2. Give a brief outline of the IS-LM model. What 

does a point outside the IS and LM curves 

signify ? Does the economy reach equilibrium 

position automatically in the above model ? 

3. Explain, with appropriate diagrams, how fiscal 

policy may not be effective in an open economy 

with flexible exchange rate. What policy option 

is available to the government in such 

situations ? 

4. Discuss the policy instruments available to the 

government for implementation of monetary 

policy. 

Section—B 

Note : Answer any five questions from this Section 

in about 250 words each. 5×12=60 

5. Explain the features of the Lucas supply 

function. Why is it upward-sloping in the short-

run ? 

6. In an inter-temporal framework, explain the 

life cycle hypothesis. 
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7. In the Samuelson’s model, explain how the 

interaction between the multiplier and the 

accelerator can lead to business cycle. 

8. Critically examine the efficiency wage model. 

9. Bring out the important channels of 

transmission of the effects of monetary policy. 

10. In the Keynesian framework, explain how 

discretionary fiscal policy can be used to close 

the inflationary gap. 

11. Explain why a high debt-GDP ratio could be 

dangerous for an economy. 

12. Write short notes on any two of the following : 

(a) Real rigidities in the goods market 

(b) Dating of business cycles 

(c) Impact of real supply shocks on the 

economy 
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